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JOMO KENYATTA UNIVERSITY OF AGRICULTURE AND TECHNOLOGY
UNIVERSITY EXAMINATIONS 2016/2017

SECOND YEAR SECOND SEMESTER EXAMINATION FOR THE  DEGREE OF BACHELOR OF SCIENCE IN ECONOMICS
HBE 2213: INSTITUTIONAL ECONOMICS
DATE:  JUNE, 2017
                              

   
                        TIME: 2 HOURS   
INSTRUCTIONS: 
ANSWER QUESTION ONE (COMPULSORY) AND ANY OTHER
 TWO QUESTIONS
QUESTION ONE: 30 MARKS

For a vibrant consistent economic growth to occur in any economy a country needs to pursue policies that themselves encourage creation and development of homegrown institutional organization that can play an active part in the country’s chosen economic activities, accordingly- the consistent growth and development of economic institutions is therefore a major concern in any economy.

Required: 
Give examples where applicable to illustrate.

a.
Outline and discuss eight challenges often faced by new, and starting institutional organizations; that  show down the creation and growth of economic institutional organizations in developing countries;
(12 marks)

b.
Enumerate six contributions that business firms and institutional organizations bring towards a country’s economic growth.
(6 marks)

c.
Suggest eight ways and /or solutions to mitigate the above challenging hurdles identified under (a) above.




(8 marks)

d.
Outline four steps that the Kenyan Government has taken or can employ to facilitate new and start up economic institutions to enable them play their vital role in economic development.




(4 marks)

QUESTION TWO: 20 MARKS

World Economies function in a natural operating environment; institutional environment and markets, which are persistently subject environmental, technological, and economic factors and challenges; embedded in broader sets of social, cultural, political and power relations.

Consequently, firms, business enterprises, and governments are constantly faced with the need to make informed choices to deal with situations in their operating environment:-

Required:-

a.
Explain and differentiate between institutional environment and institutional arrangement.






(4 marks)

b.
Explain ways that institutions organizations can employ to minimize deal with the adverse impacts and challenges on  operation and overall performance, coming from regional/industrial sector, political, economic, technological, sociological/cultural, and environmental /market factors.









(16 marks)

QUESTION THREE: 20 MARKS

Many schools of economic thought theories and practices rely on assumptions, for

instance neoclassical economists have several assumptions regarding the

allocation of scarce resources given the available options:-

Required:-

a.
Outline three assumptions that Neo-classical economics rests on.

(3 marks)

b.
Explain the term ‘neoclassical economics’



(3 marks)

c.
Discuss seven criticisms leveled against Neo-classical economics.


(14 marks)
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